             PROBABILITY/ RELATIVE  FREQUENCY 
Q1.  Pacton Institute of Technology has all its out of town students living in halls 

       of residence, as shown below.

	          From

Hall
	Overseas
	North Island
	South Island
	Total

	Hilton
	80
	115
	147
	342

	Savoy
	86
	160
	123
	

	Chester
	116
	112
	165
	393

	Mowbray
	125
	154
	128
	

	Towers
	75
	119
	146
	

	      Total
	
	660
	709
	


What is the probability that :-

a) A student living in Hilton is from the North Island?

b) A student living in Mowbray is from the South Island?

c) A student living in one of the five halls is from overseas?                    

d) A student living in Towers is not from overseas?

e) A student from the South Island will be living in Savoy?

f) A student from overseas is living in Chester. 

Q2. A survey was done of the ages of the teachers at the four secondary schools in Kilton.

	            Age

School
	U30
	30      50
	50 +
	Total

	Waimari College
	15
	42
	21
	78

	Mardon High
	23
	30
	28
	

	Parima Girls’
	9
	31
	26
	66

	Donton Boys’
	11
	23
	24
	

	Total
	
	126
	
	


What is the probability that :-

a) a teacher from Waimari College is under 30 ?

b) a teacher from Parima Girls’ is over 50 ?

c) a teacher known to be under 30 is from Donton Boys’?

d) a teacher known to be between 30 and 50 teaches at Mardon High?

e) Gavin is over 50? ( you know he teaches at one of the schools)

f) Joanne is under 30? (you know she teaches at one of the schools)

Q3. Willville has 4 secondary schools. A survey was done in 2002 of the highest academic 

      achievement obtained by all the students who left school in 2001.

	  Qualification

School
	No formal

qualification
	School

Cert   (SC)
	Sixth Form

Cert  (SFC)
	Bursary
	total

	Wilden High
	11
	28
	59
	118
	216

	Ashton College
	6
	9
	36
	125
	

	Fairhill Academy
	16
	18
	21
	93
	148

	Blaydon High
	25
	35
	26
	15
	

	Total
	
	
	142
	
	


What is the probability that :-

a) a student left Wilden High in 2001 with Bursary ?

b) a student left Fairhill Academy in 2001 with no formal qualifications ?

c) a student living in the town left school in 2001 with SFC as his highest qualification?

d) a student who left in 2001 with SC as her highest qualification attended Blaydon High?

e) a student living in the town left school in 2001 with a qualification higher than SC?

f) Overheard at a party “ Judging by the leavers in 2001 a student leaving that school has a 

   probability of  0.63 of leaving school with Bursary.” Which school were they talking 

   about?

